
                                                          

 

Name: 

5 x table 2 x table Add / Take Away 10 Missing Number 

              X 5 = 20 9 x 2 = 8 + 10 =              + 5 = 10 

5 x 1 = 10 ÷ 2 = 5 + 10 = 10 -              = 7 

8 x 5 = 2 x 3 = 42 – 10 =              + 9 = 18 

5 x               = 45           8 ÷ 2 = 38 – 10 =               + 2 = 7 

              X 5 = 25 5 x 2 = 19 + 10 = 7 -                = 3 

11 x 5 = 16 ÷ 2 = 65 + 10 = 12 -              = 7 

5 x 12 = 7 x 2 = 86 – 10 =              + 7 = 15 

5 x               = 35 24 ÷ 2 = 14 – 10 =              + 8 = 10 

0 x 5 = 22 ÷ 2 = 22 + 10 =              + 3 = 11 

5 x               = 15           2 x 0 = 43 + 10 = 17 -               = 9 
 


